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FEWHES

digs dxele 5b sa

a(btc)=ab+tac

..
%
SE
4
.

a(b-—c)=a[b+ (-]
=ab+ta(-c)
=ab-ac

DO sada glan D

FEWHES

dadadlaeld 5 ¢ 5b sa

(a+b)(c+d)=ac+ad+bc+bd

g
(a+b)(c—-d)=(a+b)[c+(d)]
=ac +a(-d) + bc + b (—d)
=ac—ad + bc — bd

(a=b)(c+d)=[a+(=D)](c+d
=ac +ad + (-b)c + (-b)d
=ac + ad— bc— bd

(a=b)(c—d)=[a+(-D)][c+(-d)]
=ac t+a(-d) + (-b)c + (-b)(-d)
=ac—ad—bc + bd
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tdan 5l
3(2x+3)=3x2x+3x3
=6x+9
(3x—1)x(-4)=3xx(-4)—1x(-4)
=-12x+4
(Bx—5)(x=-2)=3xXxx=-3x%x2-5xx+5x%x2
=3x2-6x—5x+ 10
=3x?-11x +10
L dee

X?+4x=xxx+x x4
=x(x +4)
atb—ab?*=ab xa—ab x b
=ab(a-b)
X(x+2)—x-2=x(x+2)—(x +2)
=(x+2)x—(x+2) x1
=(x+2)(x-1)

ol ) Galaid |+ quild pdad )

ORNe F saxa e ]
FEWHES

obass e p 5 g

(a+b)?=a’+ 2ab + b’

Axvzp=lypraxlyxsis
Sy Ny
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@ dlas ) A )

b Lo Jee
9x?+ 12x +4 =(3x)? + 2x3xx2 + 27
=(3x+2)?
1R (38 A e 2
igala
Ohids gl b 5 a
[ (a—>b)>=a’-2ab + b’ }
sy 5 il
(x—35)?=x7-2%xx%x5 + 52
=x?-10x + 25
b Lo Jee

xX2-4x +4=x2-2Xxx2 + 22
=(x—-2)?
legd B 8 (e & sana el 3
Luald

o w”w“ L.Jb'l‘; b } a

(a +b)(a—b) =a’-b?

oy 5 il
(2x + 35) 2x—~5) = (2x)* = (4/5)?
=4x’=5
b L Jae

9y 16= 3y — 47
=Gy+4)(3y—-4)
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